TG R

SHBE(2021F)4A1BEA
‘ SHALEMBRAETS | PR B L DRI
BB O# sy 1
= A | (o) B4 W | 0| o) | e
o= 13
1R |EE - REL - REMAOBKE | 13 20%
e 0 *
25 38% =
BICEELNES X IREBRELE o= 12 #&
28k |ETBREBFEETOIEE-RBEL | 12 18%
R RET DR (BT 0
®ZRE 17
RE - 8% - REGE - T 0 ,
W |rELons S I 4 2
BREE 0 :
%
Rk 1 &
_ _ 32 49%
BE - RATEEOWS R T8 9 =
HELE - RERE -5 r -
4% % - i;goﬁ? A 11 17% |[RRAMHE 0 ﬁ
TOMBREN, MEREE oiEmEE 0 @
25 1
s [BLOSBEETIRE 8| (| o [P0 6
= IHE DB ostsmE 0 5
5 8 12% £
s |CBREOBBRUBHERE | , | wBRE L ®
TRRLLRRORE OHEEEERULEE 1




